Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Sem-I1I Examination July 2010
Subject code: 320043
Subject Name: Financial Accounting-I
Date: 06 /07 /2010 Time: 03:00pm - 05:30pm
Total Marks: 70

Instructions:

1. Attempt any five questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1 (@) The cash book of Shri Kumble Patel showed debit balance of Rs.
7,000/- on 31-12-08, on this date, prepare the Bank Reconciliation
Statement and find out balance as per pass book.

(1) A cheque of Rs. 2,000/- issue to Mahesh Patel is not yet
deposited in the pass book.

(2) A cross cheque of Rs. 2,000/- is received from Kamal Shah,
which is recorded in cash book but it was not deposited in
the bank.

(3) Bank has paid Rs. 1,000/- insurance premium on our behalf,
but the same is not recorded in the cash book.

(4) Kanu Dave had directly deposited Rs. 2,500/- in our bank
account which has not been inform to us.

(5) The total of receipt side of the cash book in bank column is
under cash by Rs. 1,000/- by mistake.

(b)  What is Bank Reconciliation Statement? Write reason for difference
in the Bank Balance of the cash book and the pass book.

Q.2

(@) Mr. Rajesh from Rajkot consigned the goods worth Rs. 100,000/- to
Bhavesh of Bhavanagar and paid Rs. 8,000/- for carriage and freight.
Rajesh drew a bill of Rs. 25,000/- which accepted by Bhavesh. The
Bhavesh paid Selling Expenses Rs. 140,000/-. Bhavesh sold all the
goods for Rs. 140,000/-. He is entitled to get 5% commission on
sales. He settled his A/C by sending a bank draft for the outstanding
amount.

Prepare consignment A/C and Bhavesh’s A/C in the books of
Rajesh.
(b)  What is Bill? Distinguish between Bill and promissory note.
OR

(b)  What are main objects of Branch Account - explain.

Q.3

(@)  Ashok Shah sold goods worth Rs. 100,000/- at 10% trade discount
to Mihir Shah on 01-01-08. Mihir Shah paid cash Rs. 50,000/- and
accepted a bill for the balance amount for 3 months period, drawn by
Ashok Shah on 04-02-08. Ashok Shah discounted the said bill at
10% discount p.a. with the bank on the due date the bill was
dishonored and Ashok Shah paid bill amount with noting charge Rs.
200/-.

Pass journal entries the book of Ashok Shah and Mihir Shah for
above transactions.
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Q.3

Q.4

Q.5

Q.5

(b)

(@)

(b)

(@)

(b)
(@)

Distinguish between simple commission and deal credale
commission.

OR
Sajia sold goods for Rs. 3,000/- to Suffian on 10-02-06, against this
bill of two month’s duration is drawn on Suffian on 15-02-06, which
is accepted by Suffian. Sajia discounted this bill with the bank on
25-02-06. The amount of the bill is paid by Sufian on the date of
maturity. Write journal entries in the books of both the parties.
Distinguish between lease and higher purchase system.

Bata Shoe Co. of Bombay has branch in Ahmedabd.
From the following particulars prepare Ahmedabd Branch A/C for
the year ended 31-03-2009 in the books of H.O.

Stock of Goods (01-04-08) 6,000/-
Petty Cash (01-04-08) 100/-
Prepaid Expenses (01-04-08) 7,900/-
Goods sent to branch (01-04-08) 140,000/-
Goods returned by the branch 20,000/-
Cash sent to the branch from the following expenses:

Wages 1,000/-

Salary 05,000/-

Rent and Taxes 04,000/- 10,000/-
Sandry Expenses 600/-
Goods sold by the branch 180,000/-
Stock of goods (31-03-09) 14,500/-
Petty cash sent to the branch 1,000/-

Explain the advantages of the lease account.

OR
OM Ltd. purchased a machine by Installment System. The cash price
is Rs. 7,450/-. The amount of Rs. 2,000/- paid on delivery and the
remaining amount in three equal installments of Rs. 2,000/- each
payable at the end of the year. The rate of interest will be charged at
5% p.a. depreciation will be calculate 10%, by the Reducing balance
method.
Pass journal entries for the above transactions in the books of OM
Ltd.
Explain on installment system.

Explain on cash in transit.
Explain on noting charge.
OR
Explain types of lease.
Write advantages of branch account.
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